www.eenadupratibha.net

UGC - National Eligibility Test, June 2014

for Junior Research Fellowship and Eligibility for Assistant Professor

General Paper on Teaching & Research Aptitude

ol
Answers are circled in Red Colour| Held on 29-06-2014 LS

iy
*AIPER- o NS
PAPER-I R

\ "‘.IE:“LI'I"I-':I e e == i et el '.-l\lk 1}11[—1.'1 I“'. 5 S L &L _,:"

I Name) o be il -dm the C rnbdle T

2o Sienune) Rl B (“ Ny ““‘»H
1T'~..'um¢j e figures 13 per adoession -:"ml y 2 i
ar - h Roli Na..

4 \\M_..-}

.,_J-\_l'

LM .‘:'T'l'ﬁl_h..]_:h‘l!u‘hi - Lid)

Number of Quis;ico Inthls Bookict : 60

B0 OB

Time '.I *f; nours]
Mumber of Pages in this Booklel

{In m:rd-sjf;

Test Booklet Code
16

Instructions for the Candidates — wismaar & 2
1. Write vour eoll munber in the space provided of the top of |1 77 TE % FRU FeT S0 91 S RO T fritge o1
R page. 2 ﬁgqum . ;_aﬂi;hqirmn
2. This consisty of siaty (60) multplechmce type of il i el 31 o i L, Fligorr ¢
qw&npp:LTTm of which the sandidatz would be reguired 1c T T HMY 1oy ¥ perrrw o frd nd Tow
acswer any Efty (30) questions. In the event of (he candidate TOH TFT W A I?”*?T'ﬂfr“' | o
agternpiing mere than fifty questions, the Tt fifty questions |3, J01 B L wreEt % o wEm o red
prietnpled by the Candidate would by evaluaied. T T “GE whTE =0 ‘*'-H'ﬁl' [efiafae
—— 3 AL e conmenceniieint of exaninaton, the question buokln =g % f=n Tl TR ARt apr ll'i-ﬂ'l r.
willl e gven to v In the BrsE 3 nuonkides ¥ are regquesid i AT 1l'E T ;o ﬁam qu IT T WOTH WA 'n'rﬂ
4] n.:|mnlj'h:'|:|wllc' wnd compulsopily exagune 11 as bidow ; 5. & | T E’ e o e
fiv T have sesers s the Quastion [-I--Ml-irl: lear ofl the pagee ann - ofaraT '=-‘ITITT FE 8
seal 4 palythone bag on the bocklet, B i sooep
o bkt w il -::f-;":::r-'-::tl Fwethouy polytasae biag i l‘ﬁ:-" 1“%“ H h‘i’; *T'g g ‘II1=“
arad da mae sccepl an open 30okloL i [ WGH T o . 1
ir 3 Tally the member of and namber of guect tiods i P %mﬁ# ‘II'I'FTHHI'I . ﬂﬁ“
the booklet with the information prnted o 1h cover ':- l i ¥ ol iensr wErET 8
page. Faoliy booklets due inranm wassang | ‘“H_ T GHT THI WY T e SR o LE L wE
or duplicoie or oot in serial order or any olfwr uferm & | 1 w1 wTRr of e fra
discrepancy should be gol replaced imnmediately by n *emltm:#ﬂ- en g T E AR
correct hoaklel from thve bavigiloion within fhe ! 1 HNTET ST mﬁ“m i
of 5 milnutes. Aforwards, nel 'IIH'.'?I.II.".':“I'III H-rrH.,'_-- \kwlﬂ. g H’-II -;; XTT WL CTENED W WS OMR U9 G 3w
~ will be replaced nor any exirn thivie W !I'I'u‘glwn . \) W AT QMR TEE AT RO ROE §F TERGTSRET T
fn) Afwer this verficoton is over, the Tosl Bockla !q“ Yy Aot wT # |
T S Ay ke LA
4. Each item bas four slternative responses nurked | T AT AR A 6 35 7 s wren &= A
aad (D7, You have wo dirken the circic a5 indica: lrtﬁ.-lw == b _Tf.' g amk = 2
thic comect response aganel cach mem, - EETELW @ '. '-L:'i:' HAEE G WA IV L
Example : (&) @ O “‘x 5. HFTON| e [ 9 T R OMR TR R TR
whete (€7 i the 20rmect Feipone, ET"*HTEEWIEH' lwﬂtmiﬁuﬂlmt‘l:
$ Your responsss o the ems e ic be i lrﬂ"lgil D}-tlt o ﬂﬁﬂ_’” bl I8, ‘_,m ':"I:"Ikgl; !_*"F:r;?“
Sheet given Inside this Booklel. whi 15'.1:51ﬁnnn for WO W ST T 6T OWE T ¥R
Paper Land Paper 11 1f you mars at iy l'."& diber thas in et xf W .
the circlz in the OMR Sheet. it wil 2 e ajdated n s frd g Pt e ‘wﬂ':_? Eo
5. Rl instructions given inside cafrullv ) - _ :' o W (Rough, Warks T F‘I‘!.’T_- wfam < 91 % |
7, Rongh Work b to be done in theendd of g haakled. s Af s oMK T ST froa “‘F ¥ T AT ST R
4 If you write your Wume, Roll Mombe Phdne humber or put T, T TR o W o e e s m“."r*“m"‘ !
any mark on any part of the OMR Sheer cxcepl fon the space =%, sher =k soen s qm w wm e b T e
allcated for the relevant énihes, SMich may dischse §our =% srffen aner T wd AR fR e fea e
identity, of use apusve ‘Eh(m mpioy any cdher uniaug TAT A FAEEN @ FET LF'EIEK'T ® mr==1 A7 Tan o wed
et tuch as chang e[ T by sceatching or using o ke fesr o Awm ko 1
whate fhuid, you will Clable sodugual feaion. |7 STIF e @A FR W oW OMR T9F e e W
9. You have 1o retumt m—g‘: MR Shact ioabe invigioues werm MTEYEW ¥ ORI I WO ¥ @t 3F 4T wa
=1 the end of m‘khgrmﬁl sompulyaniby and wesd Dot TN UT # WET T FWT T I"-"f'"f“ ¥TT e A 7
carry it with ra= Examination Hall, %ol are oM B3 }‘n'il? M OMR 93F W TR o o aE S
kowevear. :rhm ozl qussion booklss aod iy
dupheatec RSheet on canzusea of exummation | 1o SR Sy e orge o 'IiT‘-fT ywtam =t |
L Lg.e-md}.@grxl‘uu'lhllpmm pen. 1 +ft trwTT W T =T TR W
11, Use of ulitor or log wible etq., i prohisien. RETA FTAA K | \ o
5 Th!rm five morks for ipeoavrect ansaecs. |2 mmﬁhqmtfmﬂ WE AR Y
UL, 1o v ﬁ.ym;.mpnm,jrin the Eaglish 2ad Hindi vemioas, |11 ofic wdsh o 7 feorr & ot faanfa 7, o shrm faae
Eajlg) oty willbe sokerasfinal. T o (o .

|

I


prathiba
Text Box
Answers are circled in Red Colour


Paper - |
g - |
Maote : o This paper conzains Sixty (60) multple choice quastions, ¢80 1 qaestion Caty g w2l wuel -
Candidate is 2xpected to answer any Fifty (50) questions
En case more than Fifty (50) questions are attempted, only the Jest Fafty (5609 qus ailor s wi
be evaluated.
AT« TH 0TS | HIE (60) FEiaseia wwa ¥ | g v 5 5t (2) HE
o I HHE A TR (50) T I IHE
o U TEIE (50) T FaE Tl S0 5 o 0w wanw (50) 99 # o S

1. “If a large diamond is cut up into licle 1. 7R veR T A &) oEenE g
bits, it will lose its value just as an T diee WA = Wi & 8 s & 3mr
army is divided up into small units of Tsr afE HA AR W gikan awng 9
soldiers. it loses its strength.” e () s el o - 4 el
The argument put above may be "
called as IS I Bl SR R R

Ana]ngica] (B) Deductive LAY HEFET (B FremErgss
(C) Statistical (D) Causal O wTERETEE (D) FHETIEEE

2. Gj ven rhelnw are some characleristics 2,/ A g A w5 e BE e E
of rlug:cal argument, Select the code THOE2 W AR HEw S u faewiorr
which expresses a characteristic - : i .
which is not of inductive in character. F1 Al B S G HCIATE F E
(A) The conclusion is claimed o 7 N i i o e 1 O e Sl

follow from its premises, == Ty AT |
The conclusion is based on causal (B Fspd srrrEse sy ur s
relation, wii
(1 The  conclusion  conclusively GES |
fallows from its premises. (C) SR 3FERT: 1TV A HEed 2 |
(D) The conclusion 1s based on (1Y) S BT O T AIEE R
abservation and experimmeit.

3, If two propositions having the sane 3, AT I WIS, HE = 3 5T e
subiect and predicate tenns can both e O B s g = o e < o o
wlation  benweer Je e el S
propositions is called "y _wﬁm{ :E v
(A) contradictory : (A) i i
(B contrarv ; (B) ﬂw#‘

(C) subcontrary | (C) Iufamen
ﬁuba]tﬂ'n (D) et
4. COme writes Al numbers from S0 to 99 4. U HEE 50 99 A FOTE wimET %
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without the digits 2 and 7. How 1nany
numtbers have been writen 7

(A)32 (B} 36

(C 40 ([)) 38

X-00

TAAT & ™01 33 W BUORW 2 odT 7 B
OIEE1 T | 3w e § e atesE
(A)
()

32
0

3
e

=3
i 1o
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3. Given beiow is a diagram or three
circles A, B & € wmiter-selated with
each other, The circle & represents the
class of Indians, the cicle B
represents the class of scienntsts and
circle C represeats the class of
politcaans. p, g, T, § represent
different regions. Select the code
containing the regnon that indicates
the class of Indian scientists who are
not politicians.

('I:
L) )
Codes :
(A1 gand & only
s only
(C) s and ronly
(D) p,qand s oniy

6. Given below are two prenuses. and
four conclusions drawn from rhose
prerpises.  Select  the  code  that
expresses conclusion drawn validly
from the premisss (separarelv or
jomtiv).

Premises :

(a) All dogs are marmindis.

(b} No cats aredogs.

Conclusions :

(i) Mo cats are mamroals.

(i) Some gats ave maromals,

(i) No-dogs are cats,

(iv) Nodegs are nocn-mammals,

Cades .

(AFa)yonly ‘B uvand i)

@it and (iv) (D) i) and i)
X-00

T

L

=td 9% hetfEy o W T £ feag &ns
T . oA, R 3T ¢ A F WEIw 9Eg
b oga A wrEED F e gt afafan
& B g St @ uetiees s 3
H g ¢ OeElaw # afefiie s
& op, T, 5., ATEH AE F o E
T FE F1 T OCWOAT AL IE EF
I B WEE WRgg antae o
Twees 7 8, et |

A B
"*-._,.,.--'}<
.
(&) T g W s
(B) ##ad

(Cy =55 ¢
(D) WA p g T s

A1 & @ngers Brg oro @ 3 w4
e A Frer o B o s g
= wHe I AMEaEE (I S
e w9 W) uR ywie fF g freed ww
¥ | uEH A J fara e ko
SATTE AT |

() A IMET T

(3)  wiE Fael g adt &

faeng .

() oS et A e b

(1) S T e ¥

(3i) g FEn A TE &

{ v ?ﬁﬁﬁh—ﬁqﬂﬁqﬁil

e
LAY (1) FAd (BY [5) T (i)
(€ i) ATvy (D) ) 8 i

P.T.0.
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read the following rable carctully. Based upon
this tabic anseeer guestions from 7w 11 ¢
Nt Area under Irrizaucn by sourves in &
cobmey { Thousand Heclar s
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14.

i

(18268 | 207 rHﬂ‘

Find out the scurce of Irrgaton that has
registered the maximum mprovement
m terns of percentege of Net irigued
aree during 2002-03 and 2003-04.
AL Govemment canals
(8 Tanks
(T} Tube wealls and vther wells

{her sources
In which of e foliowing years, Net
trrization by lanks increasec atothe
mughest rae ?
(A) 1998-99 (B) 2000}
(Y 200304 @'ﬂﬂ’r-’:ﬁ

[denofv the souree of Imigaton that
has recorded the maximum-incidente
of neganve growth i werrms of Net
vrnigated aret during the. vedrs given

i the isinle.
#@ Govermment canals
| Private canuly

(C) Tube wells and other wells

i} Other sources

In which of the following years. share

ol the tihe wells and other wells in rh,e

total net irneared drea was the highes: ?

(A) 199519 (B} 2000-01
200028 (T 20104-03

Which of the following sources of
[vigation” has registered the Luogest
peccentage of decline 1o Net wen under
itxi 2ation Jurdng 1997-98 ind 200206 7
Governmen! canals
Privatz canals
EC-'} Tanks
(D) Other souroes

X-(

T AfeE &) o0 # e | o AlEaT #

AT T OMeE aE) )
7w
ﬁﬂ"

199900
000-01 [T574%

1957 9%
1998991 ]

|l & % =7

muwﬁ*‘aﬁ“ﬂ#hﬁiﬁﬁﬂ

ST
2

{?-‘ﬁ

fgls T_ I A A . .
Tt wemA F mnm_]-rrm @1
AT

S,

b

Loy |

THET
| e

T2TIE%G3 32000 3

AT 10z }_‘
093 | 2121279733988 ﬁ:'.zﬁ 5741 .

ThR42 | 195 (2537 | 11&..3 015167110
:u.iﬂiald-: T3330 (55076

010211
?t‘J*“: {73
300304 L1431 366 1

7490
33506 417 |S607.
3657 53738

Y [343500 7
{35779 '4331 SERIR

P 531
laﬁa

Uﬁ

2004-15 14636 1208

r&ﬂj-ﬁ'i_...ﬁﬁ 307 | 295

(L7271 34785 ':"IETE'EFSE"?

134 A3 7314

10

L1.

g 200208 W w0304 ?fr:rr hm
ferers % & & swerfe v AR AETE
Hifters wierma gl o F R

(o) EET TR

(B FiEE

(C) e 39w
‘D & =ic

T oMy g v TR 9 e
Jog T AT W TE

LA 19EH.90 (B 200H)-0)

() 2005404 (D) 200306
AafEs 4 W3 A 7d wisl @ T
¥anT ¥ TmT ¥ e wd I Tt
R T Hfem vxFe © o g5 29

o
(A) TUFER WY
(B At A _
O TR A g E
(0 FEET

Frer 3 9 =7 el 7 g W red A
Grae = m:'r T TS A A Y

(A) 1998.95°  CE) 2000-f

(€Cy 200z-03 Iy M04-05

199768 = G508 B by 1 “'11‘:1"!"#‘
= d g @ A W e g e
WSH 1 Hﬂfﬂm{mmﬁﬁﬁr 9
(A} STeRIC 79T

By f=r =

C) TaE

TN R AT
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. Which one of the follawing is ot &/an
image/graphie file format 7

(A) PNG (13) GIF
(C) BMP L"rL’-]
13, The first weh browser is

14

(A) Internat Explorer
(B) Netscape

@Wm‘ld Wide Web

i(I2% Firefox

. When a computer 1s hooting, B10S is
loaded to the memory by

(A1 RAM @)HroM
{C) CD-ROM (D) TCP
15, Which one of the following is not the

16.

17,

X-

samme as the other three 7

(A) MAC address
(B) Hardwitre address

(C) Physical address

(D) 1P address

ldentify the
following :

{A) 300-215-317/3
'B) 302 215@ 4175

11'}2~3{J 20 148

(D) 202 --50=20« |48

[P address from  the

The acronyin FIP siands for
F ile ‘Transfer Protocol
(B Fast Transfer Protocol
(C} File Tracking Prodocol
(D) File Transter Procedure

()

L

32,

13,

14.

16.

L7.

Fer=feitme £ & w9 30 ETISTOTRS T TETAH
o fEgrET T it

(A) drE (H)
(Cy SagT Loh

ERESE Wil
HI g BTE

W A8 JTE

(AL TTETE TR
(BY e

¢ AFtaEE
‘DN RETERET

b gfon %7 T § ol BE o
£l Eiﬂi' o TaEs 3T #re e e
T it

[#0) HIVE UH (RAM]

(B). 3% & UF (ROM)

(C) &2 - & 3 mwCD - ROM)
(DY FHEf(TCP)

| Erfafme o @ w3 W =R & AR W

ACE

(A) THWE IFT

(B) BTEEAT G

(C) e T2

I e R

Prematgs 8 § 9 9 TZE W R
(A 300215 317-3

)y 302 215@ 417 -5

(C) 202 8020 148

(D) 202 - 50--20 - 143

o A, - gy Eiara W o w3 2
(A) FIEA T I

(B) MR T Sl

(C) FTee TaET IhEEE

(D) EEe T pisn
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18. Which of the following cities has been  * 18, farefafiyn =7 § ] =04 @ 407 o &
worst affected by wrban sinog in i ¥ T5T 3 TRl #E7 A gufew wtes
recent times 7 ' 2o
(A) Paris (A) cftm
(B) Lendon B) =
(C) Los Angeles (€ R

Heiii (D) &
eijing

19. The primary source of organic 19, @n wenyal # wfes wEe 1 saiEe
pollution in fresh water bodies is =il 4
(A) run-off urban areas (A) i 87§ A
(B) run-off from agricultural forms (B) WM st § w@m
@ sewage effluents | (CY - WoTeTe oy =i
(D) industrial effluents (1) sitefine 5= = sfesma

20, ‘Lahar’ is a natural disaster involving 20, ‘s uE wrEkE s ¥ e

Empl:iuu of large amount of (A) Wi GEr d ae w oSt e
material t
(B) strong winds a (B) ST Tl werdl & |

(C) e E ST ey gad % |
(D} waTee T AN sedl wwl S

(C) strong water waves

(D) strong winds and water waves £ )

21. The population of India is about 1.2 21. WA W v s |2 Rfega o
billion. Take the average consumption w= difee e wma F Fewn w1 s
of energy per person per vear in India T Ao = v el 30 W SE E
as 30 Mega Joules, If this 4% &9 W F FEA T ST @ OO
consumption is met by carbon based frm ot v wEm IO W o=
fuels and the rate of carbon emissions 5 x 10 Femrwm iRy feet ST @, @
per kilojoule is. 15 x 10° kgs, the total T R AT T P WA IR f
carhbon emigsions per year from India & 9
i, (A) 54 Fierr difer 23

(A) 54 million metnac wns
(B} 540 million metric tons (B) 540 Maferm wifes =3

(CY 5400 million metric tons (C) 5400 faferm iz ==

Hﬂﬂ million metric tons (D) 2400 foiRas wizs =
X-00 b
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22, The National Disaster Management
Authority functions vader the Union
sinisty of
(A} Euvirooment
B) Water Resources
@ Home Affairs
{I¥ Defence

23. Maich List - I and List — I1 and select
the correct answer from the codes

given below :
List =1 Lisi - 1L

a. Flood l. Lack of rainfall of
sufficient duration

bh. Drought 2. Tremors produced
by the passage of
vibratory waves
through the rocks
of the sarth

¢. Earthguuke3, A vent through
which moked
substances come out

d, Velcano 4 Exgess rain gnd
uneven  distribution

of water
Codes :

A b ) d
@4+ 1 2 3
B 2 3 4 |
{(C) 3 4 2 1
(0 4 3 1 s

24, Which one of the following green
house gases has the shortest residence
time in the atmosphere 7
(AY Chlorofluorocarbon

Carbon dioxide
@h!ﬂhﬂﬂﬂ
1 Mitrous oxide

25, In order to aveid catastrophic
consaguences of climate change, there
is general agreement among the couniries
of the world to limit the rise in average
surface iemperature of carth compared
to that of pre-industrial times by

1.3 C o2 °C
B 20°Ctw 3.5°C
(Cy 05 *Cto 1.0°C
(D 0.25 °C o 0.5 °C

X-00

22, TG AT vERS Wrewn ¥ ¥ R

e F T s s E o
(A) mria-;:rr
(B] ¥ TR
(C) TF TR
(D) TEr
23, TN - 1 11 4 i w it
e ®e T TEl I F A FOAC
Tt -1 g - 11
4. =g (T aEhy | A
&1 T B
b. q@r 2. g Bt agE S
Faal ¥el & T |
ToTeeT U W
e, ; 7, v for Fad fooet
NS BT IS Mo §
d. FaErE 4, @it 9w wowa
‘ srer ForewoT
Lo
a b i d
(A) 4 1 2 3
(B) 2 3 4 1
@ 3 4 2 |
o 4 3 1 2
24, FpfeiEa iw erew et F e o
TRFVEE H AT T 7 o5 I ¥ 0
(A) SR
(B) whET EEAERT
(C) =

(D) FHEE SETEE

25, wwErg witees ¥ v gRem ¥ o
¥ T fervm & andt 337t o o wevler & T
st wgg | amEE W ghs
# g | gedt % wmet A = R
T F S A =g B g
{A) L.5°CH2°C
(B} 20°CH3.5°C
(Cy 0,5°CH 1.0°C
(D) 0.25 °C #{.5°C

PT.O.
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2. Who amoag the Fxllowing is the de

27

28

29.

focto executive head of the Plaming
Commission 7
{A} Chairman
Deputy Chairmen
(Cy Minister of State for Planning
(D)} Member Secretary

. Education as & subject of legslation

figures in the

(AY Union List

(B} State List
@Cunuun'nnt List

(D) Residuary Powers

. Which of the following are Central

Unaversities 7

1. Pondicherry University

2. Vishwa Bharati

3. H.N.B. Garhwal University
4. Kuroksherra University

Select the cotrect answer from the
code given helow :

Codes :
1. 2andd  (B) 1,3and4

{C) 2,3 and 4 (D) 1, 2 and 4

Consider the following statements and

select the correct angwor ffom the

code given below :

1. Rajastban recocives the highest
solar radiation in the Country.

fi. India bas the fifth largest installed
wind power ‘n the world,

ii. The maximum amount of wind
power is contributed by Tamil
Nadu.

Iy, The primary source of uranium
in India 53 Jaduguda.

Cades ¢
(Ayiandii  ((B)i,iiandiii
(C noand i (1) 1 and iv

X-04)

28,

g, FEAEET 8 0 B tiwaT st =@

AT BREFTT Y 7
(A) RS

LE}u et wmrdeT

() ey g

(D) W HAE

. Pffe 3 R & = o e Ty e o

AT 7

(A) FEm I
(B) =4 5
(C)  HHaAr =y
(D) ATt AEEa

?na‘i‘aftaﬁ 7§ o S freimmg
I oirEERT et

2. feve g

3. THIRAL Tmae Tavetaaery

g, FhEh Revatame

FEA T Y TE I A S |

BT |

(A) Lzalts (By 1,3%m4
() 2,384 (D) 1,234
Fretiotias Sl o e ST ST wWet

| 2T Wi 6 ke Taem b
Ed

i, A A A e sw Rawa @ dmen
rE e el

i, A T W EEie W A o
T FEr &

v TR B FiFEE W i w1 or W
AT & |

L i

A) i {B) i, it S i

() di#in (DY 1 ¥y
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3. Which of the Ffolipwing universibes

31.

32. Consider

hes  adopted niversity
congept 7

(A} Assam University

(B))Delhi University

(C) Hyderabad University

(D} Pondicherry University

the meta

Which of the following statements are

correct about a Central University 7

1. Central University is c¢stablished
under an Act of Parhament.

2. The President of India acts as the
visitar of the University.

3. The President has the power to
noninate some members to the
Executive Committes or the
Board of Mapagement of the
University.

4, The  President  occasionally
presides over the meelings of the
Executive Commitiee or Court.

Select the correct answer fromm the

code given below ;

Codes :

(A) [,Zand 4

@I.Eandj

(By [,3and 4
(Dy 1,2, 3and 4

the statemernt  which s

followed by two arguments. (i) and

).

Statement : India should bave a very

strong and powerful Lokpal.

Arguments ; {i)Yes, it will go 4 long in
eliminating corruption
in buregucracy.

(1i) Mo, it will discourage
honest officers from

making quick dacisions.
Codes :
Only argumen! (i) is song.

{B] Omly argument (i) is strong.

(C) Both the argumenls are srong.

(D) Neither of the argoments is
strong.

X-00
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31.

32

fr=filan O ¢ fra s 3 9
(A} ¥EH fovstyaes

(B) Taeet Prestoomm

(€ e FesiineE

(D) feE=T et

tyetefiEs =5t © 8 %R T e we

favafsormn & weF ¥ Wl £ 0

. HEte forsfErsy 5 wnrn 09
& YA E A |

2, WA g R A
= falser Eid £

3. ety fevafaamey & sl
giRfa =1 9 A4S % TT
e E A ¥ O 8 |
M wE B SaH w RIS
T

=R B2} GE IO F UG T

F2:

(A) 1 2#R4 (By 1,33R4
(C) 1,23#T3 (D) 1,2,3 #T4

TEg A W e FiA e e 56
() 3T Giy £
FYF: ANE F UE WEE W 9%
T S =iy |
. (i) ¥ T STl § werET
w g FE § uEesy
eyt Famam |
(i) TE, T SHERR A
5 =fm Folm w #
EriicEEd SO |

(&) FEATEO T AL
(B) 9% o (i) T U= ¥ |
(C) SF G TET S |
(D) 9 7F 0 ¥ F3 F 9% uES FE
£
P-IT'{}J
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33. Which one of the tollowing is the best
method of teaching 7

(A) Lecture

(B) Discussion
@ Demonstration
(D) Narration

34. Dyslexia is associated with
(A) mental disorder
(B) behavioural disorder
@ reading disorder
(D) writing disorder

35, The e-content generation for under-
graduate courses has been assigned by
the Ministry of Human Resource
Development to

(A) INFLIBNET

Cﬂnsﬂrﬂum for Educational
Communication

(C) National Knowledge Commission

(D) Indira Gandhi National Open
University

36. Classroom communication 18 normally
considered as

(A) effective
cﬂgnitive
(C) affective
(D) selective

37. Which one of the following is
considered & sign of motivated teaching 7

Smd::uts asking questions

(B) Maximum attendance
students

(C} Pin drop silence in the classroom
(D)) Students taking noies

X-00

of the
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33, Fratafes o § e =1 w9
Tk

(A) =&
(B) faem-fomet
(C) T
(D) =UH

(A) wTas aElk A

(B) =mam werl fogfa &
(C) = ol

(D) wiwT i 8

35, OFy TENE faEw SEa g WaeE
TeTHEl & T ST g w7 %,
Pttty o 2 feg S mar g 0

(A) o U UF A S A wA 5 2
(B) FHERIZEN R CHTH gyt
(C) g W S

(D) ¥R it T e favafawmem

36. FE1 F TUR T WHERAD THET @&
fo =g grm

(A) W=

(B) OIEmEHE
(C) vETS
(D) AT

37. Frfefaa & & fisa sfinifg femor =0
T AT R 2

(A) Tomrdf snamrs € we goe €
(B) Taeniagl =t oty sfasmaw ot |
(C) = o qui enf= 8t

(D) et eroet st & Az @R )
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3B. In a thesis, figures and tables are
mechuded in
{A) the appendix
(B) a separate chapier
(C) the concluding chapter
@ the text itself

39. A rhesis statement i%
{A) an observaticn
(B) afact
(C) an assertion
@ a discussion

40. The research approach of Max Weber to
understand how people create meanings
in nztural settings is identified as
(A) positive paradigm
(B) critical paradigm
(C) natural paradigm

@ interpretative paradigm

41. Which one of the following is a non-
probability sampling ?

A) Simple random
Purposive
(C)

Systematic
(D) Stratified

42, Identifv the category of evaluation
that assesses the learning progress to
provide continuous feedback to the
students during instruction,

(A} Placement  (B) Diagnostic
(C) Formative () Summative

43. The research stream of immediate
application is
{A) Conceptual research
Ar:tiﬂ_r] rasearch
(C) Fundamental rescarch
(1) Empirical research

4. Who among the {following,
propounded the concept of paradigm 7
{A) Pater Hagpgett
) Von Thunen
Thomas Kuhn
(D) John K. Wright

X-00

i1

IR, 1% OEHE (ST © §EE wE afeae
(A} T
(B) U ¥ apa T
¢y Fe e W

39, vivTEs FA E
(A) U e
(B) wWhHTH
(C) wEFsT

-

(D) Po=m-fEmst

40, 99 TR F IEYE TUE F 5% T
% faw 5 o oras = J e
oy E W 5, &1 vead FElaiEg O 9
ey =T A H AR E 0
(A) RS O
(B) ST (a-aThAtE
(C) FPRRTH P

Fd

D) T e
41. Prfafian € 9 #7 w gome g g e
(A) TR A0S
(B) WEvd
O 1
(D) ®RaE
42, T ¥ 39 9§ TUW wig
gl s e & & 9 375 @
@ o F SaE ¥ e R wetw
THTE |
(AY =T (B} #yhw=
(Cy TS (D) FEEnEs
43, T SwiT 4 AT g ATHEE
Uie o '
(A} FFeEHeE (B) TWaraE

(C) werEm (D) AR
44, frefeiaer & @ B Reemees
rrufemy =i e et B o
Ay e
(B) & g
(C) e F8d
(D} SiEd &, e

PT.0.
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Read the following passage carefully and answer questions 45 to 49 :

Traditional Indian Valuss most be vieswed both from the angle of the individoal and from
that of the geopraphically delimited agglomeranon of peoples or groups enjoving a common
systemt of leadership which we call the 'State’. The Indian ‘State’s’ special fedwire is the
peaceful, or perhaps mostly peaceful, co-existence of social groups of various historical
provenances which mutually adhere in a geographical, economic, and political sense. without
ever assimilating to each other in social terms, in ways of thinking, or even in language: Modemn
Indian law will determine certain rujes, especially in relation to the regime of the family, upon
the basis of how the loin-cloth is tied, or how the tuwrban is woim, for this may identify the
litigants as members of a regional group, and therefore as participants in its raditional law,
though thetr ancestors left the region three or four centuries earlier. The use of the word *State’
above must not mislead us. There was no such thing as a conflict between the individual and the
State, atleast before foreign governments became established, just as there was no concept of
state ‘sovereignty’ or of anv church-and-state dichotomy.,

Modern Indizn “secularism’ has an admirttedly pecubar feature = It requires the state to make
a fair distribution of attention and support amongst all religions. Thesa blessed aspects of India’s
famed tolerance (Indien kings so rarely persecuted religious gronps that the exceptions prove the
rule) at once struck Portuguese and other European visutors to the West Coast of India in the
sixteenth cenmury, and the impression made upon them in this and other ways gave rise, at ons
remove, to the basic constitution of Thomas More's Utopia. There is little about modemn India
that strikes one at once as Utepian : but the insistence upon the inculcation of norms, and the
absence of bigotry and institutionalized exploitation of human or natural resources, are two very
different features which link the realities of India and her tradition with the essence of all
ltopians.

45. The author uses the word ‘State’ to highiipht
(A) Antagonistic relationship between the state and the individual throughout the period of
history.
) Ahsence of conflict between the state and the individuals upto a point in time.
The concept of state soversignty,
(D) Dependence on religion.

%16. Which one is the peculiar feature of modem Indian “Secularism™ ?
{A)No discrimination on religious considerations
(B) Total indifference o religion
{C"} No space for social identaty
{I} Dnsrepard for social Jaw

47. The basic construction of Thomas More™s Utopia was ingpired by
[ndian tradition of religious tolerance.
5 Persecution of religious groups by Indian relers.

(C} Secial ineyuelity in India.
(D) European perception of Indian State,

48. What is the striking feature of modern India ?
A replica of Utopian State (B Uniform laws
(C) Adberence to traditional values ()  Absence of Bigotry

49. Which of the following is a special feature of the Indian State ?
Peaceful co-existence of people onder a common system of leadership
Peaceful co-existence of social groups of different historical provenances attached to
each other in & geographical, economic and political sense
(C) Social integration of all groups
(1) Cultural assimilation of all social groups.

X4 12
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Srefefan e w1 ARy T T T AT 45 ¥ 49 % gae 4

qrE Rl gEd o AT AateE ud ofteine i e T aw am e wE,
THW P WO e sen €, T BT T @wd €, € % glewm | e S alie e
ifeToE S = F W W, S OF e | diies, e ve s aE W g 2 E
yr= grEE BT ¥, Preem e Smeee s o andrga e # e o 2 wieEs e
sy AR wwatfee ® e @ wd € A aRe o 3@ faferear & 1 amgfeE s A
g o St 5 Freife s o wm e e e # &9 s e e v e
= & v g fw e Wl S | S T AW W UF A TF 5 aRe B A sl wl
T T T vE = et orevfes fafe w1 suam w5 sEse we 8 O | ewife 39 qae 5 6
£r7 ST YR g A uTE A a1 | SR wgee e T § & ufeg 96 g iR | st
o e & o W A, G e T o | 9y Rl w0 w w i aee e & g A o ) e
W {9 & YT ST STYRON 47w frres of gt o

g o R v T mw e ¥ e oos e e € R wetw o
AT HET T WA AT §IT | e ) G Qe 3 g9 ol agiel A (e S .
3w wael T wRitaE @ searar TRy Suer T sTHt e a0 16at A 5 | ¥ i
1 W S AT G | T g AT S TS e e | 3 R E o A TR | S
W TES T WNTAT R # TS O S T g2 3 e 2 & 19 w6 v | 3 e H
tre1 Fo ofers =t & o gEifaae (sweel) wdia g1 O WETRTS o SfeIEEAl 9 W S, SR o
FEST AT F WIS & w1 eutea, 4w v ) wE A & S s 9 arstam v
qreTE i RN (AT o ® A e
45, ciEF S ger e w5 W B A 9w 41 % feg i g o |

(A) 3T oyl Wi @ < T afte safeEa 5 i e e S e

Rl Ferftrerer oy e w7 T i e o A Feft o W A B |

(C) 5 T W ITE |

(D) 99 O 3149
46. Treafetas # § smafer qo T H Y SR S S8

snfiss FTaTE o SEE T (B) et & iy qot et | q

(C) WETAF IEE & e S e = | (D) et faly % F 5
47, T 3 | e =T = geiftsar w1 g8 2t TR 8 e o e

aifirr weelieeT S AR T ¥ | (B) W wree S S S e |

(C) WA T = ST S | (D) A 90 & e godT =ty |
48, ATE S I A T A

q;aﬁzmﬂwﬂaﬁ@ﬁr (B) Taly =i wpevan

(C)  TiOiTE go HUTE ¥ 9l (D) O S SEaret

49, Frfiafias O @ ey ooy 7 fEfere s = @ &2
(A) TR =1 T gt ToRe H iy we- e |
(o= O IR o & WA TR, W ow e it i o oo
g ¥ g B E, w1 i wnstee |
(C) avit wet =7 TR ol
(D) Tt T WE S WeTE
X.00 i3 P.T.O..
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a0, The Telephone Modal of
Communication was first developed
in the area of

(A) Technological theory
Dispt-rsinn theory

(C) Minimal effects theory

(D) Information theory

&1, The Dada Saheb Phalke Award for
2012 has been conferred on

(A) Katan Joher (B) Amir Khan
(C) Asha Bhunsle@ Gulzar

52. Photographs are not easy to
{A) publish

@ decnde

53, The grains that appear on a television
set when operated are also referred 1o

{B) secure

(D) change

a%
(A) sparks (B} green dots
@ SOOW (D) rain drops

84. In clreular  commnuaicauon, the
epeoder becomss a decoder when
there is
{A) noise (B} audience

(C) criticality

feedback

58 Break-down in verbal commuanication
15 described as

{h} Sheost circuit
)y Contradiction

.Ui’lﬂ YEONEess

(D) Entropy
X-01)
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50.

51.

52,

33,

54.

55,

- (B)

fefafae 0 4 PP o9 & s &
e wiee S FEvE TwE g 0
(A) reifrat Regr

(B) hmtger fagm=

(C) =g WerE THET

(D) = e

e AN WS Wl O 2013 ¥ A
Py T Tt 2

(A)  HITHE
() s wreet

(B) R EH
(D)  TEEN

ST HTEH TEE |

(B) T
(D) e

oraas! %

(A) Weprer

(C) T
Hefrem = e T W A 5w F
e usd &, 3 MemiET § w0 a8
A E 7

(A)
()

(B) UM EEd
(D) FFH

T
&
w gfE e £ TASET Emiet @ A
& ot I
(A) T
(C)  AERREET (D)

(B) =t
GEeE

e T | SeEaE @ o
(A} =M oiee

(©
(D)
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56. In certain coding method, the word
QUESTICN 18 encoded 4%
DOMESTIC. In this ceding, whar s
the code word for the word
RESPONSE ?

{A) OMESUCEM
(B) OMESICSM
@{JMESICEM
(D) OMESISCM

57. ¥f the series 4, 5, 8, 13, 14, 17, 22, ...
is continued in the same pattern,
which one of the following is not a
termn of this series 7

(A) 31 (B) 32
3:—1 (D) 35

58. Complete the series BB, FE, [I, ML,
PP s by choosing one of the
following option given ;

TS (B) ST

{C) RS (D) SR

59, A man starred walking {rom his house
towards south. After walking & km, he
turned to his left and walked 5 km.
Then he walked further 3 km after
mrning ieft. He then turned to his left
and continued his walk for @ km. How
far is he away from hishouse 7

(A) 3km (B) 4 km

@5 km (D) 6 km

60. In a posi-office, swmps of three
different denominations of ¥ 7, T 8,
T 10 are available. The exact amount
for which one cannot buy stamps 18

19 (B) 20

(C) 23 (D} 29

56. et =ifen Ry F Frm Tw
QUESTION =i DOMESTIC ¥F ¥0 &
FrT T T | S sz 4 we
RESPONSE 1 & Jm ?

(A) OMESUCEM
(B) OMESICSM
(C) OMESICEM
(D) OMESISCM

57, oy A@ET 4, 5, 8, 13, 14, 17, 22, ...

F 6 19 Ty T e, Freferte o
¥ W SEen ¥ B 9 SR e AW 7
(A) 31 (B) 32
(Cy- 33 (D) 35

58. BB, FE, IL, ML, PP, ........ % 4@
=t Tt fawedt 4 @ o 9w T O
#"ﬁﬂﬁ:
(A) T5 (By 5T
(Cy RS (D} SR

59, T 3EHT A AH W W IO W AW
T E E | 6 [weldRd Wer &
T A% AT mAt #R g o S
Tereiier wem 1| fo 9% 9t &% 9% =7
3 Fpirdler oo | =% 6T oo At s
g1 &iv o feeimter o Ior T | 39
wEmiEF e

(A) 3fmidizr (B) 4 fEeiic
(Cy 5 TEaider (D) 6 R

6, THETFCS T 7, T § ST Y 10 = W
= fewe SyeTEr € | OF T 9w &

Toerg & foare WEl mais) = T ¢
(A} 19 (B} 20
(C) 23 (D} 29
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